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Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey,  must be experienced by the children in school to

make them better citizens. / Wﬁéﬂa? SR, Waﬁmmaﬂﬁ%m
faemea | BT AJHT BT AT AT

1. Rules / (900

2. Discipline / 3R

3. Experimental awareness / YRS SRl
4. Democracy / SIGE]

Correct Answer :-

« Democracy / SICEE]

2) Find the correct sequence of stages of child development. / fIoTg o srawuTaii 1 Tg!

H JTd DIoT |

1. Infancy, Childhood, Adolescence, Adulthood /‘a"\flamﬂ, CIR2IEESIIP ﬁi‘lﬁﬂa@ﬂ, Eﬁﬂ?ﬂ
2. Adulthood, Adolescence, Childhood, Infancy @E_cﬂ, %Qﬂw, dlegIdyy], QRETaRIT
3. Infancy, Adolescence, Childhood, Adulthood /@Wﬂ, Wﬂ, CIZICESSIN Iﬁa_cﬂ
4, Childhood, Adolescence, Infancy, Adulthood /STeUTdRT, Wﬂ, Wﬂ, EﬁE_CIT

Correct Answer :-

« Infancy, Childhood, Adolescence, Adulthood @Wﬂ, dlecgIdyy], fhg IR, EﬁE_CIT

3) is major environmental risk factor for poor child development / TRaT &

ey Rn  vqe gy SifeT oRe 8
1. Diarrhea / STARAT



2. HIV / TI3Medl

3. Chickenpox / EECY

4. Diabetes Mellitus / I[?;J,ﬂ_s'

Correct Answer :-

. HIV/TI3MSat

4) Curative measures of juvenile delinquents are ./ TR ST & SUARTHS
U™ gl

1. maintaining strict discipline / FOR SR IU Q]

2. rehabilitation and correction programmes /W 3R JUR HAHH
3. isolated treatments / b JUTR

4. rigorous punishments / BHOR &8

Correct Answer :-

» rehabilitation and correction programmes / gqafﬂ 3R JUr SR

5) Which theory encourages private speech, and self-regulation? / P-4 Rrgia At

HTYUT 3R STe-Fraa 1 diefed #a1 82
1. Jerome Bruner / SIRIH EGR

2. Jean Piaget / S foamst

3. Hattie / %?.Pf

4, Lev Vygotsky / SCCIRUIRSE

Correct Answer :-

« Lev Vygotsky / NEEIRIRIEE]

6) Which of the following is not an aspect of emotional intelligence? /Fafafaa A d ®=
YTTTTP U™ BT TP Ugq -8l 872

1. Expression / 3ifeafad
2. Assessment / HedTdh
3. Change / BIRCRE

4. Regulation / fafrge=

Correct Answer :-



« Change / Rdd-

7) The order in which language is acquired is: / dg $PH foraw T sifeta a‘ﬁﬂ'ﬁ'ﬁ%
1. Speaking, Hearing, Reading, Writing / Y-, 4dUl, Yo, qAGT

2. Hearing, Speaking, Writing, Reading / 4dUl, ¥y, éw, Uod

3. Writing, Reading, Hearing, Speaking / oG-, U3+, 4qUT, HYUA

4. Hearing, Speaking, Reading, Writing / 4dUl, Y, UdH, LGk

Correct Answer :-

« Hearing, Speaking, Reading, Writing / #dUl, &Y, UdH, [GECE]

8) The type of education wherein students of disadvantaged groups are taught along with the

normal students is called: / ITHT BTAT & ATY-ATY dfad '\‘I'Fﬁ}f & BT DI &I o4 aret
fRranm &1 g R = Hgamar 3

1. Inclusive Education / STHTART fR1&
2. Exclusive Education / 3= fR1&f

3. Special Education / favy fRrem

4. Integrated Education / W e

Correct Answer :-

« Inclusive Education / JHTARI &

9) The state of being left out of the mainstream system of services is called

/ TAT3MT B YT YUTTET I qI6% Ig B AT Bl CadESIGI
1. Inclusion / 3{TARH

2. Universalization / STdHITHEGROT

3. Existentialism / 3{f&@dlg

4, Marginalization / tIT%fmUT

Correct Answer :-

« Marginalization / arffeor

10) A sculptor needs intelligence to be successful. / Th qﬁwnaﬁmﬁ%%
g i@t smaxawar iR 2



1. Musical / §fId (EI;%IW‘)

2. Spatial | T® (@'@'CIFD

3. Interpersonal / TREWR® (FeUHd)
4. Linguistic / TS Hefeft (ﬁ'lﬁam

Correct Answer :-

. Spatial / RIS (TfPTa)

11) What skills involve the small muscles of the body and hand-eye co-ordination? /

PO P | IR 3R TY-3TE G99 $ S wiauRRmar afdfea gid 82

1. Fine motor skills / 3<p¥ e BT

EN

2. Fine movement skills / 3cp ¥ T BN

3. Gross motor skills / Jh T 13“3? Ebsl'-‘ffﬂ

4. Body-kinesthetic skills / JIRIR@®- TTfadac gfs

Correct Answer :-

 Fine motor skills / 3cp¥ H\IC{ d?l-‘llﬂ

12) What is the first sounds of meaningless speech that a baby makes called? / 38 3 Ve

HTYUT B} Ut el B T Hgd & ford a1 3l 2
1. Babbling / dgdglgc

2. Telegraphic speech / coftufth e HrwoT

3. Crying/ﬁ:ﬂ

4. Syntax / Al — fa=ar

Correct Answer :-

« Babbling / dSdSIgC

13) What principle is being used when a negative stimulus is removed from the environment

in order to ensure that a behavior persists? / mﬁmwmw%mmwﬁm%w
vafaRor & fFel} Te RIS IEUA B ST STaT ; T8 AT $31 & Rie S o1
AER T 38?

1. Positive punishment / P RIHD qUS

2. Positive reinforcement / HPIHD l;l"lc‘l-ﬂ"l

3. Negative punishment / TP RIHD ¢US



4. Negative reinforcement / TP RIHD Y- CRE

Correct Answer :-

 Negative reinforcement / TP RIHD ';:I,"Itslr NG

14) What was the neutral stimulus in Ivan Pavlov’s famous experiment on classical
conditioning? / ARATT YU (FATRID A HSIRT) W I UIGAId & URIG T H
Te WM ([Yed W) 71 A2

1. Salivation / ATATAdU[
2. Food/ q-hTrF‘f
3. Bell / gcl

4. Dog / &I

Correct Answer :-

. Bell /Gc]

15) In reasoning the association begins with a problem and ends with a ./ dH ﬁ,

ORI T TR AT ST e iR Ts_ Saywwra et gl
1. Dream / WG

2. Problem / GHE

3. Solution / FHTYH

4. Tmage / BId

Correct Answer :-

o Solution / HHTYTT

16) In relation to the development of intelligence, the results of twin studies indicate that: /

IS & oo & Jau #, Jsar sreg-i & ufom 3R wd § f:

1. Both genetic and environmental factors are important./ GH@TW 3R graTeRvitT g HRS
HE@YUi g |

2. Neither genetic nor environmental factors are important./ dr &W 3R RCISICRYIR
HRE HedqUi 4 |

3. Environmental factors are more important than genetic factors./ &ﬂﬂam HRD] B SNEL |

ARV HRS 31fed Heaqu! 5|

4. Genetic factors are more important than environmental factors. / JIATaRUNYT HRBI Dl SNEL |

3B R 3ifireh Heayquf B




Correct Answer :-

« Both genetic and environmental factors are important./ GI'I:\I,HTW 3R ITaTeRUi g PRSP

BRG]

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior

management in schools today? / ARAT S LCE] (FATRIDA DI W UIqdd &
Rrgia A adu § faenaal ¥ sgagR yeeq WR SR # {69 yeR yuifad fear @2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching.

%ﬁrwmﬁﬁ%ﬁﬂﬁﬁﬁwm&qﬁwﬁ%aﬁ?ﬁr&méﬂw T IR G109 3T

|

2. Teachers notice every little thing going on in the classroom. / fRrere &I Hem o a LR B
SISt Sl IR &M ¢AT AT

3. Teachers have clear lesson goals and make proper use of group work./ fRrerpl & U WY Ul

&I BT § 3R THg B T Ifd SUTN HRa B

4, Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / fR1&/d gRI gl Bl SR B

TR fh 33T IR T § 3R 3P 1T MATE &1 AeT | F&4p RT THRIHP HIER
P gdlcTed B o o8 48 HY &1 Imfeu|

Correct Answer :-

« Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / fR1e/ gRT =dl B SIMRe® DRl
AT P 3T IER AT & 3R 3P [T Ui &1 AT R1arh §RT ABRIHD HaER
DI gdldTigd B o fe1T &8 Ht &1 1zl

18) Children typically feel emotions related to fear when they have: / T AR W ST A

Hafta YTa-TI3ii ) Hegy Hd § o9 39 = giar 8:
1. Bi-polar disorder / T3-UTeR fSq3ITER

2. ADHD / TSITTS!

3. Autism / 3{TfceH

4. Anxiety disorder / I (TSTEeY) fEgaiiay

Correct Answer :-

« Anxiety disorder / fear (Qﬁﬂga) IEEEIER

19) Childhood becomes a central factor for the behavior as adults, according to

approach. / W%W W%wﬁw%ﬁqu%ﬁﬂﬂ
PR T A1 g |



1. Sociocultural / FHTST Hikpicdh
2. Humanistic / ATddTdat

3. Psychoanalytic / TfaRey
4. Behavioral / W

Correct Answer :-

+ Psychoanalytic / EEICRGY

20) Some children are able to process more when information is presented visually. This

refers to their_./waﬁammmﬁﬁv&msﬁé'mmmwﬁ
TR 1 W1l 81 I8 39D @I Hefid Hrar gl

1. Preferences / UTITHamdTSff

2. Ideas / faaRl

3. Interests / STol

4. Learning styles / 3{fTH ferat

Correct Answer :-

« Learning styles / 3f&H Aferal

21) Who is the central focus for an individual to get guidance in school? | faemrea o

ATieR yrw w1 & fog fslt aafea &1 g e (ded wiew) 59 w g afzae
1. Friends/ GIRd

2. Parents/ HTdI-fUdT

3. Neighbors/ TSRS

4. Oneself / T4

Correct Answer :-

« Oneself/ ¥

22) Who proposed the Bobo doll experiment? / CIC] '{[%TIT TN forae wanfae fovar ure?

1. Bandura / EI'VUERT
2. Erikson / Qﬁ_cﬂ:l:f
3. Pavlov / UTddd

4, Vygotsky / CIEUIRSE:]



Correct Answer :-

« Bandura/ ET'USRT

23) Who believed that teachers should teach by appealing to students’ natural instincts to

investigate & create? / DY AT AT {3 18] gRT o @1 =Y 3R =1 § ydior s34
& ford 3@t wipfa® ughi IURAT T1flgw?

1. Jean Piaget/ S foamst
2. Jean Lave/ STi- <1d

3. John Flarell/ ST
4. John Dewey/ G| §_‘E§

Correct Answer :-

 John Dewey/ S §_§

24) In Maslow’s Hierarchy of Needs the top level need is known as: | TS &
ATILIHdT UgIepH H, X srawt &Y smaaswar &1 fA 0 & &1 S 8:

1. Efficiency needs / Q&dl TAGDH T mﬁﬁm
2. Growth needs / f[a®M Sragadmdr Ny -1gH)

3. Important needs / J-Iscdtj\uhﬂd-‘zqudl (sl-thEGc -InIQ{-I)

4. Deficiency needs / I 3Ta=aad (FSfh R -igw)

Correct Answer :-

. Growth needs / AT Ta=TdHdl (UIY -1g9)

25) How do parents assist in gender stereotyping? / 'FI'I_cIT-ﬁI?IT, forT m A HA
eIl HYd 872

1. Childhood peer groups are segregated along gender lines. /W%W%ﬁﬂjﬁﬁﬁmm
& feare e fpar ST B

2. Schools emphasize different academic subjects for male and female students. / ¥, Yo 3R

Afgar sHEl & forg fafie Qeifores fawdi RSk <d &

3. Parents place their children in gender-specific schools. /m?n-fﬁ?n 30 s & feii-fafdee
ol HEd B

4. Parents force children to follow traditional gender roles. /Wﬁmaﬁhﬁmm
YIABI37 BT TRV A & [T T HRA G |

Correct Answer :-



 Parents force children to follow traditional gender roles. J AUl S bl URUR S et
Y131 BT SR A & e ST HRA & |

26) Who proposed the concept of a language acquisition device, found universally in all

children? / T g=f # AIdHIAE 0 F urit S arelt v srei= ufafyr (AW ufdforre
f&arsH) Ft s@uURYN fFaA Rga 12

1. Jean Piaget / S foamest
2. B.F. Skinner / Eﬁwm

3. E.L. Thorndike / 5. Td. Y- S3dH
4. Noam Chomsky / T D!

Correct Answer :-

« Noam Chomsky / ¥ TTHIH]

27) What is the term used to describe the gradual stopping of the relationship between a conditioned

stimulus and a conditioned response? / GF;FSIT\ U SEIUD 3R sr:;%n“ Ud GF;[aTCIT & I HEY & Hid
BERId BT qUiH B & g 75 2reg &1 g v wiran 82

1. Reinforcement schedule / %_GIT“F[ W

2. Punishment / §&
3. Shaping / fAequiIftm)
4, Extinction / ﬁ?ﬁq

Correct Answer :-

. Extinction / [ad@g

28) The most important characteristic in differentiating a child with a special need is: /

% fORIY STazasdr ard 99 F (AT A arell I Hgaqut faRivar 8

1. Face problem in completing his homework /ﬁlﬁ mﬂgm(@m) USTWﬁWW
SAHAT x| l-|\’.5(‘II%|

2. Has abilities different from an average child /w &Hd1 Gﬁﬂﬂﬁﬁﬁ@[ﬁ-ﬁ@?ﬂal
3. Has poor relationships with peers/%ﬂ@ﬁ%mﬂwwa%

4. Does not perform well in academics / THSH! H 33T UG gl Bl g

Correct Answer :-

 Has abilities different from an average child /ﬁmﬁ &HdT Gﬁﬂﬁﬁﬁﬁ-ﬁaﬁél



29) The rules of presenting the contents to make them easy are called:
| TR P ST T & 1T U A & i &) g1 wman &:
1. Method of teaching / fRrefor o1 fafdr

2. Teaching strategies / fRI&0T Jurifaar

3. Maxims of teaching / RIELED RSEl

4. Techniques of teaching / B EAGERICE

Correct Answer :-

. Maxims of teaching / TRI&0T & Bl

30) The term cerebral Palsy was introduced and popularized by

(e uret) S gRT A SR e ig a=mar man
1. Gardner / Tﬂg:l?

2. Piaget / Ot

3. Dr. William John Little / S1. faferas Wi ferfea

4. Sir William Osler / IR faferar NI

Correct Answer :-

o Sir William Osler / 9% faferaw oeR

Topic:- General Hindi (L1GH)

1) 3& 8 Wa TS,
B Bl ¥,
U&7 Big o,

HIT |, AT A, |1 7,
3oy ifiray arf¥ray|
T Y4BT Hf,

T 4 Ft,

T g3 B,

HX Y, FX Y, FX Y,
3oy iy aif¥ray|
I8 HEH T B,

e T8 A §,



3y ¥q Y9 9,

AUTY TYTY TUTY,

3oy iy aiffray|

I UL 61 UgHR A9 U9 Y U= $T Ik Tarsu|
U ‘T U7 Sig W A1 A’ 59 UfeT &1 Sy o7 82
1. T A PIS a1

2. TNT ITRA &1 T DY |

3. ¥ud g [ AT A & IRIH AR

4. Tor il B URTH T WDHR g1 BT MY |

Correct Answer :-

. fordit B URIDH R WBHR 51 HRAT A1V
2) FHE HA T,

HEEEEES

TS 75 Bi

HIT |, | 3, [T 74,

3fray Sif¥ray iy

T Yy H,

T Y H,

GRS

B AUY, F ITY, F Y,

3f¥ray Sif¥ray sy

g g T B,

A T AT ¢,

Y W T 4,

YUY TYTY AYYY,

SRray Sif¥ray sy

ST URIIRI $1 UgPHR 19 D T YA HT S« T3¢
W B IR-IR THI Tl Hd1 §, ‘R AYY, T Y, HX AYYY’
1. YheUsg §H & fog

2. S0 Y IS TaT

3. 98 Y3 A I b

4. qf SHTGH! Yebr 7 ST



Correct Answer :-

. JHeIdS 8H & g

T MUY, FX YUY, T ATY,
3fray Sif¥ray iy

UE HEH T,

I AT,

3y W Y& 9,

TAYYY TYYY TYTY,

Sif¥ray fdray sy

S UL P UgHR - IR 7T YA HT Ik 9131

W 3B g1 3R R aral aafa &1 g +fa {6 gl A Sg1ver 82
1. Iudad quft

2. Had AT A

3. had DR YUY

4. had YUY

Correct Answer :-

. Sugad ot

SRy Sifiray sifiray|
g+ zl%u'm aﬂﬁ,



T YW H,

GRS

T YUY, HX WYY, T ATY,

SRray Sif¥ray gy

g HEH T,

e ET A &,

319 ¥ ¥ 9,

TYYY TYTY FYYY,

3Rray Sif¥ray sy

ST U= B UgHR -1d U T YA HT Ik qa1s¢|
T 9 Hiddl H§ IR-IR WY W <RIy T2
1.39

2. Ydih

3.9¢

4, 3APR

Correct Answer :-

P MUY, hI YUY, H YUY,
SRy gy sifiray|

g W TR,

I T AJA o,

319 T T 9,

AYGY AYTY AYYY,

3oy 3Ry sy



IUYF YT D1 UGHR A1d I MY U=A $T SR JazQ|
WRH: 39 HIAdT BT AU 7132

1. Iudad quft ura

2. A Tg! b PIEA R A M T AP, FH

3. %ad Ul b B3 aR H ot fad eraet 37

4. HId TG fob AT GA-UAH F T o o 91 o T8 g

Correct Answer :-

. Sudad Tt va

SRray Sif¥ray sy

T YPMHH,

T Y H,

A GSM W,

B YUY, F ITY, F Y,

3f¥ray Sif¥ray iy

G AR TR,

IA A,

3y g Y& 9,

YUY AYTY TYYY,

SRray Sif¥ray iy

I TSN P UgHR 1 IR 7Y R BT Ik 9a13¢]
W= 30T R & UM ¥ g oifeh 3 avE 9¢ @ ngu S sfa A A e 82
1. R YUY, B Y

2. A YA B

3. QA AT Sl

4. A ST B

Correct Answer :-

. T yAm R



7) W WA T,
U R TS,

TS 7 Big o,

| |, W A, AT 14,
3f¥ray Sif¥ray sy

T yHm H,

T ym

A gem P,

F Y, T AYY, F Y,
SRray sif¥ray iy

g HEH T,

AT AIA ¢,

319 ¥E ¥ 9,

YUY TYTY AYYY,

3Rray Sf¥ray iy
IUYe TEIi &1 Ugdh? 1 YD ¢ U= o1 Ik Ja13¢|
WRH: 3T wforer 3 3R dgar §¢ aS @) $fa A fry i & ayuy wer18?
1. IqGad Tt

2. Had 3HY

3. had Yo

4. Had Wa

Correct Answer :-

- Sugaa

SRy fray Ry |
T YHm H,
T Y H,

qAgem e,



F Y, T Y, F AYY,
SRray Sif¥ray sy

G A T,

A T AT ¢,

3% WG I 9,

YUY TYTY TYYY,

3fray Srf¥ray iffay |

IUYed TEIie &1 Ugh? 1 YD ¢ URH &1 Ik Ja13¢1

W= W9 A 9 Hi3T awa imar § aft feaa udten it @2
1. 3TH Y ®Is T8

2. Tt &1 =15t

3. fodt ug ot

4. Tt e Bt

Correct Answer :-

. fordl cafad i

F Y, F Y, F Y,
SRray Sif¥ray iy

TE HEH T,

AT A ¢,

319 ¥e ¥ 9,

TYYY AYITY FYYY,

3Rray SiR¥ray gy

IUYed TEIi< &1 Ugh? 1 Y& ¢ 4R o1 Ik Ja13¢|

URH: SfeR] o oitaq & HfS §R F TR df I/ T A1 A1eT?



1. §TT e BT R

2. T D1 A RR U1 o1 a1

3. forddl @ W & TR T8 BT ART 3R 307 IR W Fgd I AT
4. USRI B! STelid BT A1RT|

Correct Answer :-

. bl @ Hae B ER T8l B! AMPY 3R 37U I W Fgd I8 =g

10) &1 8 Wd &,
BT gl T,

TS U Big 4,

HIT |, | 3, [T A,
SRray Sif¥ray gy

T Yy H,

A yEm R,
CEE:SE R

B UY, F ITY, F Y,
SR¥ray Sf¥ray iy
TG TR,

I ET AT €,

Y W T b,

YUY AYYY AYYY,

SRray Sif¥ray sy
ST U= B UgHR 19 D T YA HT S« T3¢
w=A: fordlt A 1 o i IR 3ot wivTe ae uger It 82
1. ¥ NN 1 Hag

2. TG SWRIad

3. foodil 1w

4. 3BT WY

Correct Answer :-

. T¢ TR

11) J& & HA TS,



¥,

U&7 Big o,

T |, | 0, W7 14,

SRray Sif¥ray gy

T YPmHH,

T YT i,

A GSM B,

B YY, F ITY, F 7Y,

3Rray Sif¥ray sy

G R TR,

T T AT B,

3y W Y& 9,

YUY TYYY AYTY,

3f¥ray Sif¥ray iy

I TN P UgHR 1 IR 7T U HT Ik 9a13¢1
UH: gal g WAl ES, B O, 51 99, | $iY 31 b 59 eiv 32
1. ¥ 3R v 9eg4

2. HEd & I ST

3. GIud & 99 Ug

4, JfaTRITAH SR TG AN

Correct Answer :-

. IfqaRITel 3R TG AN
12) FHE HA TS,
BT gl T,

TS 7A Bi W,

HIT |, | 7, W7 A,
SRray Sif¥ray iy

T Yy H,

T Y H,

TAGSM P,

HX YUY, FX XY, F UY,
Sfray Sf¥ray sy



JgHEH TR B,

IA AT B,

Y W I 4,

TUTY AYTY YT,

SRray Sif¥ray siffay |

IuYed TEi &1 Ugh? 1 YD ¢ U= o1 IR Ja13¢|
TL: < 7 40 HW, 7T g HUt Hfa = pear 2
1. 98 oYl g1 81 751 |

2. TARIRT A9 Hi- uRfRufaal 9 76l Sxar g

3. THioTe & qenr S ET B

4. 98 JUATY gHAT |1 8 |

Correct Answer :-

. UNIRT g Hfe uRfufadt @ 78t sear |

13) & WA TS,

BEE TS,

TS 7A Bi

| |, [T A, AT 14,

3f¥ray Sif¥ray iy

T Yy H,

T YT H,

GRS

B YY, F ITY, T Y,
3y fdray sy

TG A T T,

A AT ¢,

34 W ¥ 9,

YUY TYTY AYYY,

3fray Sif¥ray iy

IuYed Ui &1 Ugh? 1 YD ¢ U= o7 Ik 13T
UL: <7 Yo st w7 f5a sard?
1. BIC-BIC d1AD Bl

2. 3(UA il



3. g gl &g faan
4. AT 3TeHt Bi

Correct Answer :-

o I SHTEH B

14) T WA TS,
BB S,

TS 75 Bi

HIT |, | 7, AT 7,
oy fmy sffmy |
T Yy Hl,

T YT H,

CEE: SR

T UY, HX YUY, T ATY,
SRray sif¥ray iy

G A T,

A T AIA ¢,

AY TWGIH 9,

AYTY TYTY TYTY,

3fray Sif¥ray iy

IUYed TEIie &1 Ugdh? 1 YD ¢ URH o1 Ik Ja13¢1

UR: Ug UETH €U & B8 X A A [ T 1 HgH FeT 2
1. 3TH A BIs 78!

2. U BT Uy digs i grar g

3. fed @1 o Higsh el

4, BTG I Y U HGTS DT SRR §H DI

Correct Answer :-

« HIdH I T 30T HA BT SR 84 Bl

15) 3& & Ya TS,
HR:EE
TS U7 Oi6 4,



| |, /1T |, 717 74,
Sfray sy sfiay |
T YHM HW,

T YA B,

T gem ok,

T YUY, HX YUY, T ATY,

3fray SiR¥ray iy

UE HEH T B,

IA AT,

31y W Y& 9,

TAYTY TYYY TYTY,

Sif¥ray fdray sy

ST UL P UgHR 1 IR 7T YA HT Ik 9131
W: B 7 <3 v frad wdie W=y wai fan 32
1. g T & s aft 8

2. 599 Q B TE

3. Sia & Hid- GR DI

4. U &b GY DI

Correct Answer :-

. Silad & Bf3 ER Bl

16) g g WA §, a9 Yud 31 Th F IRR &1 YfY gt 8, gk I 9199 9o ghan 31 g 981 a1 [ara? g4
HIT AT § - T6 IR 1 Jod A2 I1 I IRR TR Jod A2 9 AT 2t UR 3741, T AB | &S, &,
forar, frarm | @, T e Ot & @l @) v, gail @ freeiR, Sie-ud, ux-ueht - $5 7 ge ure
I NE - IS Y BT BIHET 3T g R g UST 32 g Susiai, g Iueiai, g Iusiailt A wild o @
&, 91T IS W 38 § - A & Q| IRt o - 48 Sart & Rrafear a @1 81 IR 3 snazasar A
AFRaE JRral Bt FEl P14 A ST IHAT §, 39T IRl ¢ | {6, I8 F=an a) a1 USTHh WY - AR a9 uy] 3R
MG | T 32 WG DI AT §91-T [AE A! AT A a9 T 99 I IRR B AaRIHaATS IR
ATRYE giral B aeeite &t ag) 81, 99 SuS! Y@ Wia-@iq & et 0t a9 ot TSt e arg v <t off
IIPT YY" Tid fAwar, 9 STt FIfAfET g o SEa ok g9t § Th-gpe @ A1 uggel @ arex,
WP € 98 T} g, ITP! @I ST 9141 a1t 3R I W F} 791E et 7ol AR & ¢ o« a8
ST 1T W YR BT U THR el UR ST o7 38T AT, 99 SHP BU-BY § ITA AT YT, A DI ! a9 I

I TSt & A 7S, F=f ft ad |

T BT HIAI-YW WSl gR §3iT, 79 I8 Said gl Rk gafeg A8t f 3@ Ye-ysn o) affrer Jem ¥ 39
agferaa frah, afer 98 erve-fAuR gom, w3t arfermn |/, I7d qRY 1 IM: TA: Tpied gHaredt gagdt
frvon |, gt W TH-99 R qE-a8 BN J! MHH # O JIed SHS 99 S8 U1 HY BT 3R
PP Bl 98 UG 11 3T I7F Wgd-aY 7 ISP HH-HR &) AT I3 & fore arar i, s=uqu A 39
a3 1t sl 3 A 1 feam ae-3RR A U &1 R Y 7, 70 1 SWR iR UfErss &1 J9) SR
T3t P aRE IUPT U 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7 Te1 gon, 994 A 9P
e W faora ot giuon # AF B sraxasar 39 7, fhg Suat Awer I | 1F W e yra s 3



SUYFT TR BT UgHR -1 G Y YA BT IR Ia13¢|

U: IRR B TSl 1 {6 9 o) w8 11 & ST T 32
1.5 UH

2. Bl UH

3. AR gl

4.9 9Y

Correct Answer :-

. TR g

17) g &9 @A 8, TAT9 YU 71 T | IRR 31 gY St &, GO & WHH I giaT 8| AR 97 a1 Jars? gH
FIT TS § - T6 IR I1 Jod AFRT? A1 I IRR TR o A2 19 AT G2l UR ST, T Ab | &, &,
forar, frarm | @, T fee Ot & @l @) v, gail @ fesiR, Sie-ud, ux-ueht - $5 7 ge ure
I NE - IS YA T BIHET 3T g R g UST 32 g Susiai, g Iueiai, g Iusiai A wiid & @
g, 91T IS VT 38 § - A & Q| 99T o - 48 Sart & Rafear a @1 81 IR 3 snazasar A
AFR® JRral Bt FEl P14 A STA IHAT @, &9 IRl ¢ | {6, I8 F=ar a) a1 USTdh @Y - A a@ uy] 3R
AHa § F1 3’2 AT B A 9T A ! 7 T4 99 T o9 39 IRR B Maadmarsdi o
ATHRYE giral B aeeite &t Ig) 81, 99 SuS! Y@ Wia-@id & et 0t a9 ot ISt S arg v <t off)
IIPT YY" Tid fAewar, o9 Iua! FIAfFAAT A o SEa ok g9t § Thy-gpe @ A1 uggel @1 arex,
WP € 98 ud T} g, ITP! @I ST 9141 et 3R I W P} 791 et Aol AR & ¢ o« a8
ST 1T W YR BT U THR odd UR ST o7 38T AT, 99 SHP BU-BY § I o1 TN, A SIS ! a9 I

I TSt & A 7, =f oft ad |

T BT HIAI-YW WSl gR g3, 79 I8 Said gl Rk gafig A8t {6 3@ Ye-ys &) affren Jem ¥ 39
agferaa frarh, afes 98 emFe-fAuR gom, w3t arfermT |/, I7d GRY 1 IM: TA: Tpied gHaredt gagdt
frvon |, gt R TH-T9 HRd qE-a8 BN It THHH # O JIed SHS 99 S8 U1 HY BT 3R
PP Bl 98 UG 11 311 37F Wgd-aY 7 ISP HH-HR &) A4 I3 & fore arar i, s=uqu A 39
e 3 1t gl 3 A 1 feam: ae -3’ A O &1 R W 7, 70 BT SWR iR UiErss &1 I9) SWR |
T3t Pt aRE ITPT Ue 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7 @e1 gon, a9 3 39F
e W faora &t giyon # AF B sraxasar 39 7, fhg et Awer I 8 1F W e yra s 3

ITYe TR Y TSP 19 IR 7T U= &7 I« 9a13¢|
U=H: HIFd 9IF YAl IR 3147 o 7 SAh SMT?
1.4ig

2. 91

3. dial

4. 44

Correct Answer :-

18) AE &H WA &, 19 Yud 31 TP & IR 31 YfP eefl 8, gk & A qd giar 31 g 9971 91 [arma? &9
HIT AT § - T8 IR A1 Jod A2 I1 I IRR TR Jod A2 o9 A G2l UR 37T, 4 Ab | &80T, &,
TR, o = @, T fUge @ & W @t e, gaif S FpeiRT, Fie-udw, ug-usl - $9 T ge U
4! TR - ST YW@ BT HTHAT TS 15 W ge UST 82 g Susian, g Susian, g Susna A wiid 1 ¥



T, 91T IS ST @ B - TIg & o1 d°RT e - U Sat § Rrafear @ w1 31 IRR ot smawgdar A
AARE® JRAl B FEl P14 A STA 1T §, &aT 0T ¢ | fhg, I8 T=am a¥ q1 USTHh @Y - A a@ uy] 3R
UG ® |7 3faR? UG $I A9 1T A ! WG AT a9 S o9 39+ IRR B AaRgHarsei iR
AR gt &Y aeeitg < ad) A8, Sa Iu! 4@ Wia-wrd $R I8 8t aq ff 3Tt o e wR & ot
ITFT YY" Tid fAwar, o9 ISt FIAFAAT A $f FEa iR g9t § Th-gpe @ A uggel @ arex,
WP € 98 ud T} g, ITP! W HT 9141 et 3R I W P} 791 GRet | Aol AR & ¢ o« a8
T 19 B TqaR BT UG DR o TR ST 1 I8T AT, q9 ITF BU-BY A I a7 U1, TRM SIS | 99 J
39 A1) & Y 718, 9=t ot TS|

T BT HIAI-YW WSl gR g3, 79 I8 S5aid gl Rk gafg A8t i o de-ysn ot affrer Jem ¥ 39
agfeaa frarh, afee 98 emFe-fAuiR gom, I 3t arfermT 9/, I7d GRS 1 IM: IA: Tpied gHardt gagat
fPeon @, gt R T9-99 R Ae-aE BN J! HHH H O JIed SHS 99 S8 U1 HY BT 3R
PP 81 a8 UG 11 3T 3P Wd-aY 7 TP HH-AR &) A4 o1 & fore arar fFa, s=ugu A 39
7ed &1 Wt geserget T # ¥ faam arFa-3iR # te &1 R AR ], g0 BT SR SR AfErss &1 9ad SR
T3[3ft P ARG ITPT Ue 3R AT FHHIGR 361 & 781 81 oy o1 ag e a7 s gon, a9 3 39F
e W faora o) giyon $11 A B ravgear 39 §, fHg Iqe! Awer W) & IE W e urd A F

IUYe TRIR B UgH 19 IR 7T U= $T I« 9a13¢|
WSH: WFG ®1 74 faa a9

IRGIEE

RINICE

3.8 A

4, YT A

Correct Answer :-

19) 7% 89 @4 B, 79 Y §1 TP & IRR P g gt 3, g & AN 9 g1 31 AR §97 A1 [Ara? 79

HIT AT § - T6 IR I1 Jod AFRT2 I I IRR TR Jod A2 9 AT Gl UR ST, 4 Ab | &0, &,
forar, frar | < @, Fan fiee Ot & Wl @) v, gail & geeiR, Fie-ud, ux-uelt - $5 7 ge ure
I AF - ITD! YA BT HIHAT AT 15 W ge UsT 32 g Iuwnsn, A7 Iusiai, ﬂgmaﬁzﬁar—rwhﬁma%
g, 91T IS W1 3@ © - AF & Fw| ST Tare - 48 Sart § Rrafear @ @1 81 IR 3 snavasar A
RIS gl H 8l 1A A ST 79T 3, 39T 7T 3| fbg, 918 et =R U1 YT WY - A aob Uy 3
UG § |7 3fR? WFG DI A §1-T [ ! HHG AT a9 T 99 39 IRR BT AGRIHATS IR
AR gl @Y aeeie < ad) A8, 5ie IUST Y@ Wia-wid HR I At aq o Iqet S e w & off
IAHT UYH I e, 99 ISt HifafEl AF o Hua R 9ot § f-ge w1 | ugel $t aReR,
WP € a8 0 T g, ITP! @Il ST a1 et 3R I W P} 718 qRet | 7ol AR & ¢ o a8
ST AT W YR BT UG TSR o TR IST o7 38T AT, 79 SHP BY-BY § I a1 U1, R B | I I
I A1t § T8 TS, 9=t off TS

T BT BTAT-YW ST g¥ §3MT, 9 U5 Saiid gol R st 78t fr 3@ Ue-gen &1 9fier Je= § 39
agferaa fraeh, afee 98 srve-fAuR gom, S 3t arfermn |/, I77d qRe 1 3M: IA: Tpied gared gt
forvon 9, guft IR 99-99 Hd AE-AE AT ! HTHAH § 99 digd SUS a9 I8 AU FIY &7 3Ry
PP B a8 UG 11 311 3P Aed-aY = ISP TH-UR B A1 o+ & fore arar {6, s=uqu A I9d
g &) W gesergt T / 1 faum Ara-3iR # te &1 RF R 2, g0 31 SR R Al 1 969 SR
Tx3it B aRE SUPT Ue SR WY FHHIGR v | 81 81 o @ ag e a9wr wer gon, v A 3ud
Ye R faorg &) giuon 35t g 3 sraxaddr 39 g, fHg Sue! ater ¥l @ g W fawr ure a4 3t

ST TR B UGHR 1 IS T U= BT Ik qargu |
URH: (Y-t ATd A fHFHBT UG TTHT HIFd ST ST 8T UT?



1. UddR &7
2. AR BT

3. HYR B
4, Fafsat @1

Correct Answer :-

o YddRR o]

20) I &9 QT4 §, 19 Jud ¢ 1 Th A IRR 31 Y gl 8, gk | 99 o ghat 31 g 991 a1 [ara? g9
FIT TS § - T5 IR I1 Jod A2 AT I IRR TR o A2 o9 AT G2t UR 3741, & Ab | &, &,
forar, frarm | @, T fUee Ot & @l @) v, gail @ freeiR, Fie-ud, ux-ueht - $5 7 ge ure
I NE - IS YT BT BTHEAT 3T 15 R g UST 32 g Iusiai, g Iusiai, g Iusiai A wiid & 7@
&, 91T IS VT 38 € - A & Q| 99T o - 48 Jart & Rrafear o @1 81 IR 3 snaasar 2
AFRI® JRal Bt FEl P14 A STa IHAT §, &aT 0T ¢ | fhg, I8 F=a1 a) a1 ST WY - A a@ uy] 3R
AHa ¥ 1 3’2 AT B A 9T A ! A TG 99 T O 39 IRR B TG arsi o
AR gl &Y aeeilg < ad) A8, Sa Iu! 4@ Wia-wid $R I At aq ff It o e w i ot
ITPT YY" Tid fAwar, 9 Iua! FIfAfET g $f SEa ok g9t § thi-gpe @ A uggel @ arex,
WP € 98 qud T} g, ITP! W ST 9141 et 3R I W P} 71 Ret | 7ol ARA & ¢ o« a8
Tt 19 B TqaR BT U THR e TR ST 1 I8T AT, a9 ITF 99-BY A 9 a7 U1, aRM SIS | 99 3
I a1t & A8 aTs, aRft oft aerg)

T BT HIAI-YW WSl gR g3, 79 I8 S5aid gl Rk gafg A8t {6 3@ Je-ysn &} affren Jem ¥ 39
agferaa frarh, afew 98 erFe-fAuR gom, W ot arfermT @, I7Td qRY 1 IM: TA: Tpied gHaredt gt
frvon |, gt R TH-99 HRd qE-a8 BN J! A | O JIed SHS 99 S8 U1 HY BT 3R
PP 81 98 UG 11 311 3P Wed-aY 7 ISP HH-HR &) A4 I3 & fore arar fFa, s=ugu A 39
%ed &1 Wt geergt T # ¥ faam area-3iR # te &1 R AR 8, 80 1 SR SR AfErss &1 9ad SR
T3t P aRE ITPT Ue 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7y e gon, a4 A 39F
e W faora &) giyon $11 A B ravgear 39 §, fhq Sae! Awer W & IE W e urd A F

ITYe TRIRI B UgH 19 IR 7T U= $T I« 9a13¢|
U=H: NE & e o S 911 33 © iR Sore o1 &2
1. 3TH Y BIs 78!

2. TMq AR R

3. 9 SR fora

4, Qd AR 9T

Correct Answer :-

. Td AR TN

21) g &9 Wd §, TaTd ud 31 TH o IR B1 g gielt §, gk & AN 9 gial 3| A 9971 A1 a2 g6

HIT AT § - T6 IR I1 Jod A2 I1 I IRR TR I A2 9 AT G2l UR 37T, 4 Ab | &0, &,
ToraTaT, frama | Far @e, 79T fUw? af & WA o st gai @ geeiRT, $le-ud, ux-us - $S 7 ge U
I AF - ITD! YA BT HIHAT 3T g W ge TSI 32 g Iunsn, Ag Iusiai, ﬂgm\aﬁzﬁa——rwﬁ%ma%
g, 9N IS VT X8 © - A & Fg| ST Tare - 4 Sart § Rrafear @ @1 81 38R 3 snavasar A
AR gival Ft w8 FA | STa oA 7, 51 39T 31 g, are et WY U1 ST} Wi - A 99 Uy SR
UG ® |7 3faR? WG DI 4§11 A ! HHG AT a9 T4 o9 39 IRR BT AaRIHarsi IR



AP giral B axeits &1 gt 8T, od IS Y@ Wia-@id $R Yat A a9 Hi ITST ST [errd uR I i
IAFT YY" T fAewar, o9 Iua! FIfAfAT g o SEa ok g9t § Th-pe @ A uggel @ arex,
WP & 98 T} g, ITP! @I HT 9141 et 3R I W P} 791E et Aol AR & ¢ o« a8
ST 1T W YR BT U THR odd UR ST o7 38T AT, 79 SHP BU-BY § I a1 UHT, A SIS ! a9 I

I TSt & A 7, F=f oft 7|

T BT HIAI-YW WSl gR g3, 79 I8 Said gl Rk gafeg A8t i 3@ Ye-ys &) affren Jem ¥ 39
agferaa frarh, afes 98 emFe-fauiR gom, w3t arfermn |/, I7d qRY 1 IM: TA: ypied gHaredt gagdt
frvon |, gt R TH-T9 HRd qe-a8 BN It HHH # O JIed SHS 99 S8 U1 HY BT 3R
PP 81 98 UG 711 3T 37F Wgd-aY 7 ISP HH-HR &) AT o1 & fore arar i, s=uqu A 39
e 3 1t gsrgl 3 A 1 feam ae -3’ A O o1 R Y 2, 70 1 SWR iR UfErss &1 I9) SR
T3t Pt aRE ITPT I 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7 e gon, a4 A 39F
e W faora @t giuon # AF 3 sraxawar 39 7, fhg et Awer I | 1F W e yra w4 3

ITYe TR Y USHT 19 IR T U= $T I« 9a13¢|
U: A5 g1 QT 3, AT DT 58 T B 82

1. Jad ]

2. 99 g

3. @A g

4, QoA g

Correct Answer :-
. JUdEI

22) IE g9 T §, Ta9 Jud 81 Th A IRR 1 g Tt B, g & 999 o ghar 21 A 991 a1 [arE? g9
HIT AT § - T6 IR I1 o A2 I1 I IRR TR Jod A2 19 A9 G2l UR 37T, 4 Ab | &L, &,
forar, frarm | @, T fiee Ot & Wl @) vt gail @ FeeiRT, Fie-ud, ux-ueht - $5 7 ge Ut
4! TR - SHDT YW BT HTHAT TS 15 W ge UST 82 g Susian, g Susan, g Susna AaM wiid o @
g, 91T IS W1 X2 © - AF & Fw| Rt Tae - 4 Sart § Rafear @ @1 81 IR B snawadar A
AHRIE IRl Bt Fl B A ST IHGT 3, 391 76T ¢ | T, I8 Faam 9% a1 UhTdh WY - A ab Uy S
UG ® /T 3faR? WMG S 4§11 [ ! WG A9 a9 T4 o9 39 IRR 31 AaRgHarsei iR
AR gitral & aeeite &1 7t A8, o9 TSt Y@ Wia-wig & el At a9 ot Ut S are R <t oft
IHBT UYH I e, 99 U HIfAfal AF & Fua 0k gowt § f-ge w1 f| ugelt # aRR,
WP € a8 qud e} g, ITP! Wl ST 9141 et 3R I W P} 718 qRet | 7ol AR & ¢ o« a8
ST AT W TR BT U ANHR ol UR IST o7 38T AT, 79 SHP BU-BY & I a1 Ul TR A B | a9 I
39 Ardt 8 7Y 718, 9=t oft TS|

A BT HIAI-YW Wl gR §3HT, 79 I8 Sw5aid gl Rk gafg A8 i o de-ysn ot affrer gem 4 39
ggferaa frah, afee 9 srve-fAyR gom, S 3t arfermm ¥, I9Td GRe #1 ;M WA Tpied garedt gt
o &, gt IR 99-99 R AE-AE BN J! A H O Jled SHS a9 S8 U1 HY BT R
PP B a8 UG 1] 311 3P A<d-aY 7 ISP TH-UR ) A1 I3 & fore arar i, s=uqu A 39
e & it g 3 A S feam e -3 A O &1 R iR R, 79U 1 SWR iR Ui &1 Ia) SWR |
TY[3ft P ARE ITPT Ue 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7 @eT gon, a9 3 39F
Ye W faorg ) giyon 35t g 3 sraxawdr 39 8, fHg Sue! Iter ¥l @ 1F W fawr ure a4 3t

IUY e T B UgHR 19 YD T U= P Ik qa13¢|

U T I TRR T FTEIA1 ¢ 3R G- & W $T F1 g1 82
1. Sfta SR g

2. it 3R Tt



3. ¥ 3R g
4. R 3R 3fq

Correct Answer :-

- g IR

23) T &9 W14 8, To19 Jud &1 Th A IRR o1 7Y it B, gk A 9 9w ghar 31 g a1 a1 [ara? g4
HIT AT § - T6 IR I1 Jod A2 I1 I IRR TR Jod A2 19 AT G2l UR 37T, 4 AB | &80T, &,
ﬁumﬁumlwmmﬁwm$ﬁﬁaﬁﬁﬁmq&ﬁaﬁmrsﬁwaﬁzm el - $° 9 ge U
I AF - ITD! YA BT HIHAT 3T g W ge UsT 32 g Iusnan, Ag Iusiai, ﬂEWGﬁ!ﬁEHGﬁﬁGTQ%
g, 9N IS W1 X2 © - AF & Fw| Rt Tae - 4 sart § Rafear @ w61 81 IR B snavadar A
ARIE IR Bt Fl B4 A ST 76T 3, TaT 76T g | T, 18 Faan 9% a1 UhTdh WY - A ab Uy S
UG ® |7 3faR? WMG S 4§11 [ ! WG AT a9 T o9 39 IRR B AaRIHarsei iR
aTRY® gitral B aeelte &1 Tt A8, 59 SuSt Y@ Wia-wig & @l At a9 ot TSt S are R <t oft
BT UYH I e, 99 U F1fAfEl AF B Fua 0k 9ot § f-ge w1 ff| ugel # aRR,
WP € a8 qud e} g, ITP! @Il ST a1 et 3R I W P} 718 qRet | 7ol AR & ¢ o a8
ST AT W TR BT U AHR o UR ST o7 38T AT, 79 SHP BY-BY § I a1 UHT, TR B | a9 I
I A1t 8 Y 718, 9=t oft TS|

A BT HIAI-YW Wl g1 §3HT, 79 I8 Sw5aid gl Rk gafg A8t i o de-gun ot affer gem 4 39
ggferaa frah, afe 9 erve-fAyR gom, S &t arfermr @, I7Td GRS 1 ;M IA: Tpfed gared gt
frvon 9, gudt IR 99-99 Hd AE-AE AT ! HTHAH § 99 digd SUS a9 398 AU FIY &7 3R
PP B a8 UG 1] 311 3P Ad-aY 7§ ISP TA-UR ) A1 I3 & fore arar {6, s=uqu A 39d
g & it s 3 A S feam a3 A O &1 R iR R, 79U 1 SWR iR UfEss &1 9 SWR
I3 B} R ITPT Ue MR AFE GG @1 J 981 21 forg & ag e a9ar st g8, Ay A 39d
Ye R faorg ) giuon 3t g 3 sraxawdr 39 8, fHg Sue! Iter ¥l @ 1g W fawr ure a4 3t

UG T B TGP T TS T Y2 BT Si? TS|
TH: G ISP HIHAAT A D1 SHEd 3R ot § Fa-ge w8t i ot 71 e
1. GREN

2. TEN
3. 9yH Tiftg

4, HIh[4

Correct Answer :-

« OYH T

24) T 9 Q14 §, 719 ud &1 Th A IRR 31 7Y gl 8, gk | 99 o et 31 g 91 a1 [ara? g9
FIT TS § - T6 IR I1 Jod A2 I1 I IRR TR Jod A2 9 AT G2t UR ST, T Ab | &, &,
forar, fraram | @, T e O & @l @) v, gait @ sesiR, Sie-ud, ux-ueht - $5 7 ge ure
I NE - IS YA T BIHT 3T g R g UST 32 g Iusiaf, g Iusiai, g Iusiailt A wild & @
g, 91T IS W 38 § - A & Q| IRt o - 48 Jart & Rafear @ @1 81 IR 3 snaasar A4
AR JRral Bt FEl P14 A ST IHAT §, &9 IRl ¢ | fhg, I8 F=an a) a1 USTd @Y - AR a@ uy] 3R
MG | HT 3fR? WG DI AT §9R-T [A A! A AT 9 T 09 I IRR B AaRIHaATS IR
ATRYE giral B aeeite &t Ig) 81, o9 SuS! Y@ Wia-@id & et 0t a9 ot TSt i arg u <t off)
ITPT YY" T fAewar, o9 It FIAfAAT g #f SEa ok g9t § Thy-gpe @ A1 uggel @ arex,
WP & 98 T} g, ITP! W HT 9141 et 3R I W F} 791E RET | Aol AR & ¢ o« a8



3T A9 H UdaR BT UG TMHR o d U IST ST 38T 4T, 79 S9P 9U-9Y H 94 d1d UIT, R Bis ! g d

I+ ATl g 1) 7%, 9 R gArg)

T BT HIAI-YW WSl gR g3, 79 I8 Sared gl Rk gafg A8t i s Ye-ysn o) affrer gem ¥ 39
agferaa frah, afes 98 erve-fAuR gom, Sw 3t arfermm |/, I7d GRe 1 ;M TA: Tpied gHared gt
frvon |, gt W TH-T9 R de-a8 BN ! MHHH | O Jied SHS 99 S8 U1 HY &7 3R
PP B a8 UG -TE] 311 3P Algd-aiY = TP TA-UR B A1 o+ & T AR {6, s=uqu A I9d
g &) W geserget T # 31 faum Ara-3R # te &1 R R ?, g0 1 SR 3R Al 1 969 SR
T3t B aE ITPT Ve 3R AT FHHIGR 391 & 781 81 oy o1 ag e a7 et gan, a4 A 9P
e W faora &} guon # AF 3 sraxgwar 39 7, fhg e Awer @ | 1F W e yra w3 3

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|

URH: 99 ST W Targ W it <ft a9 STt 1@ w1 H7 3 A2
1. 3T A PIS T8l

2. Sgferd ot

3. Xid dt

4, Gia-giq

Correct Answer :-

A4 A4

o Y[d-9ld

25) 1§ 89 T §, 719 Jud 81 Th A IR 31 g 3t B, g | 9 g ghar 21 A 991 a1 a1 g9
HIT TS § - T6 IR IT o A2 IT I IRR TR o HIF? 9 AT 2T UR ST4T, T Ab | &S, &,
forar, frarm | @, T4 fUee Ot & el @) vt gail @ FeeiR, Fie-ud, ux-uelt - $5 7 ge U
! Y - SHBT YW BT HTHAT TS 15 W ge UST 82 g Susian, g Sushan, g Susnai A wiid o @
g, 91 ITS AT 38 € - U5 & fore| 9uRT are - 48 Sari # Rrafear @ 81 81 IR &) smaxasdar 2
AARI® JRal B FEl P14 A STA IGET @, &9 0T ¢ | fhg, I8 F=a1 9% q7 ST WY - AR a@ uy] 3R
UG § o7 3faR? UG &I A9 §1T A ! HFG AT a9 S 99 394 IRR B AaRgHarsei iR
AR gitral & avelt &1 7t A8, 59 TS Y@ Wia-wig & Tl ft a9 ot U} S are R <t oft
ITPT YY" Tid fAwar, o9 ISt FIAFAAT A H FEd iR g9t § Thi-gpe @t A uggel o1 arex,
WP & 98 o T g3, ITH! WIel BT T4 21 3R I W B 918 e | Aot AR F ¢ oiw @
T 19 B UqaR BT U DR o TR ST 1 ¥8T AT, 9 ITP B9-BY A I a1 TN, TRM SIS | 99 d
39 A1) & Y 78, 9=t ot TS|

A BT HIAI-YW WSl gR §3HT, 79 I8 Iw5aid gl Rk gafg A8t i o de-ysn &t affrer Jem ¥ 39
agferaa frarh, afew 98 erFe-fAuR gom, I 3t arfermT ¥, I7d GRS B IM: IA: Jpied gHardt gt
freon &, gt W T9-99 HRd AE-a8 BN J! U H O Jied SHS 99 S8 U1 HY BT 3R
PP B a8 UG 11 3T 3P Wd-aY 7 ISP HH-UR &) A4 o1 & fore arar i, s=ugu A 39
g & ot gl ¥ A 1 feum eIk A O &1 R 9§, 76U BT SWR iR Ui &1 Jad SWR |
U3 BT AXE IHPT U MR A HAMIGR @1 H 51 ¢ | Fore & a8 & ava @et gon, 79 3 39S
Ye W faorg ) giyon $ A Y sraxawdr 39 8, fHg e Ater ¥l @ 1g W fawr e a5 3t

IUYe TRIRN B UgH 19 IR T U= $T I« 9a13¢|

US: UT & a1l B fHratsT, gaii &) STy, Sie-udi, ux-ueh fadl ot w78 ste1?
1. TR & & oy

2. TTH Y IS 5T

3. TR 21id A & forg

4. Y@ fiyem & frw



Correct Answer :-

. Y9 feq & fore

26) I &9 W1 §, Ta19 Jud &1 Th A IRR 31 7Y gt 8, gk A 99 9o giat 31 g 987 a1 [ara? g9
HIT AT § - T6 IR I1 o A2 I1 I IRR TR Jod A2 o9 AT Gt UR ST, 4 Ab | &S, &,
fArara, forarm | @, @ e Ot & @) @) vt gait @ fresiRy, Sie-ud, ux-ueht - $5 7 ge ure
I TR - IAD! YT BT HTHAT AT 15 R g€ UST 82 g SUSTa3i, g Iusiaf, g Iusiai A Siid o 7@
€ 9N I1R o T2 ® - 1F & RIe1 IuRT e - 43 sar § Rrafeat & @1 81 WK $Y srazgean A
TARIE gl Bt el B A ST a1 3, 391 7T 3| fbg, 918 Faam =R a1 UhTahe WY - A a Uy 3
MG § T 3R? WG DI A §-T [AE ! A AT a9 T4 99 391 IRR BT AaRIHATS IR
AR gt &Y aeeiig € ad) A8, Sa IuPT @ Wia-wig HR I At aq o It o e R & off
ITPT YH Tid fAear, o9 Iu! SRl g #f SEa ok g9t § Th-ge @ & uggel @ arey,
WX E 98 T T gaiT, STH) Wl BT 9711 3 R 71 AT B 771E qRet | Hoel AR & T o« 98
ST AT W UaaR BT 4 TSR o TR IST o1 35T AT, 79 SUP BY-BY § I a1 UHT, TR B | a9 J
EUEIN B HEE ERCRI R R

T BT HIAI-YW WSl gR g3, 79 I8 Iard gam Rk gafig a8t i s Ye-ys &) affrer Jem § 39
agferaa frah, afes 98 srve-fAuR gom, 3w 3t arfermm |/, I77d GRe 1 ;M IA: Tpfed gHared gt
oo &, gt IR 99-99 B AE-A& BN J! MTHHE H 99 Jied SHS a9 S8 U1 HY BT R
PP B a8 UG 711 3T 3P Algd-aY = TP TA-UR B A1 o+ & e AR {6, s=uqu A I9d
g &) W geserget T # 3 faum ArHa-3R # te &1 R R ], g0 1 SR 3R Al 1 969 SR
T33it B aRE SUPT Ue MR WA FHHIGR ¥ | 81 81 O @9 a8 Hid a9a) wer gon, o A 3ud
e W faora &} guon # AF B sraxawar 39 7, fhg e At @ 8 1F W e urea s 3

SR TR B UG -1 IR T U= T Ik qa13¢|
UL A BT HTHAT 1o [5H IR g2 TSTR?

1. e W

2. MW

3. ORI |

4. TR

Correct Answer :-

. W

27) 1§ 89 T §, 79 Jud 81 Th A IRR 1 g Tt B, g A 9 g ghar 21 A 991 a1 (A g9
HITATEA § - T5C IR IT oI A2 IT I IRR TR o A2 9 AT YT U= ST4T, T AB | &S, &,
g, framan |« @, amﬁwm%wﬂ‘raﬁﬁihm J&il Bt TR, Ble-Udi, U-U&h - $© 9 ge U
I AF - TSB! YA mmmﬂgwgw%ﬁgm&ﬁﬂgm@ﬂgmﬁvﬁmvﬁ%m@
%’,maﬁ@m@%-ﬂﬁ%mlmw-ﬁmﬁm%ﬁﬁw%lmﬂ?ﬁwﬁ
AARI® JRral B HEl P14 A STA IGET @, &aT 0T ¢ | fhg, I8 Foa1 9% q1 ST @Y - AR a@ uy] 3R
UG § o7 3faR? UMG $I 49§11 [ ! WG AHG a9 S o9 39 IRR 31 AaRgHarsei iR
ATRYE gitral & aeeite &1 7t A8, 59 TSt Y@ Wia-wig & el At a9 ot Ut S arg R <t oft
IIPT Uy "ifid fHwan, 919 Iuat ST 1 # STd R g9t § du-ge @t A uggst @) ares,
WP € a8 qud T} g, ITP! Wl ST 9141 et 3R I W P} 791E qRet | 7ol AR & ¢ o« a8
T 19 B UqaR BT U DR o TR ST 1 I8T AT, 9 ITP BU-BY A I a7 U1, TRM SIS ! 99 A
I a1t & A8 TS, aRft off aETS)

A BT HIAI-YW WSl gR §3HT, 79 I8 S5aid gl Rk gafg A8t i o de-ysn ot affer Jem ¥ 39
agferaa frerh, afew 98 erFe-fAuR gom, Iw 3t arfermT ¥, I7d G B IM: IA: ypied gHardt gt



fBvon |, gedt R IH-IH B A&I-T ABUN ! ARIHH H O gl SHS a9 394 U1 Hi¥ BT 3RIT
PP B a8 UG 711 311 3P Ahed-aY = ISP TAH-UR B A1 I8+ & e AR 6, s=uqu A I9d
g &) W gesergt S # 1 faum ArHa-3RR # te &1 ®F R 2, g0 31 SR 3R AfETss 1 969 SR
Tx3if B aRE SUPT Ue R WY FHHIGR v | 81 g1 o @ ag e a9wr wer gon, w3 3ud
Ye R faorg & giuon 35t g 3 sraxaddr 39 8, fHg Sue! ater ¥l @ 1g W fawr ure a4 3t

ST TR B UghR 1 YD T U= P Ik qa13¢|
US: A9 A 919 9 A131 & 3rdTar 3R a1 T2
1. 9gft

2.8q
3. €8l

4. 9T

Correct Answer :-

28) I &9 W14 §, 19 Jud &1 Th A IRR o1 Y gl 8, gk A U o gian 31 g 981 a1 [ara? g4
FIT TS § - T6 IR I1 Jod AFRT? A1 I IRR TR o A2 o9 AT G2t UR ST4T, 4 Ab | &, &,
forar, frarm | @, T e Ot & @l @) v, gail @ fesiR, Sie-ud, ux-ueht - $5 7 ge ure
I NE - IS Y BT BIHET 3T Vg R g UST 32 g Sueiai, g Iueiai, g Iusiait A wild & @
g, 91T IS W 38 © - A & Q| IRt o - 4 Sart & Rrafear a @1 81 IR 3 snaasar A4
AFRa® JRral Bt FEl P14 A ST IHAT §, 39T IRl ¢ | {6, I8 F=an a) a1 ST WY - AR a@ uy] 3R
AHa § F1 3fdR? AT B WG 91T A ! 7 A4 99 T4 o9 39 IRR B aadmarsi uw
ATRYE giral B aeeite &t Ig) 81, 99 SuS! Y@ Wia-@id & et 0t a9 ot TSt S arg v &t ot
IAPT YY" T fAwar, 9 Iua! FIAfAAT g S SEa ok g9t § Thy-gpe @ A uggel @1 arex,
WP & 98 T T g3, ITH! WIet BT T 21 3R I W A 918 e | 7Aoot IR ¥ ¢ o« a8
ST 1T W YR BT U THR el UR IST o7 38T AT, 99 SHP BU-BY § I AT YT, A DI ! a9 I
I a1t & A8 ars, aRft of arg)

T BT HIAI-YW WSl gR g3, 79 I8 Said gl Rk gafig A8t i 3@ Ye-ys &) affrer Je™ ¥ 39
agferaa frarh, afee 98 emve-fAuR gom, S 3t arfermm |/, I77d qRY &1 IM: TA: Tpied gHaredt gt
frvon |, gt W TH-T9 HRd qE-a8 BN It HHH # O JIed SHS 99 S8 U1 HY BT 3R
PP B 98 UG 11 311 37F Wgd-aY 7 ISP HH-HR &) A4 I3 & fore arar i, s=uqu A 39
a3 it sl 3 A 1 feam ae -3’ A O a1 RIF HiE 7, 70 1 SWR iR UiErss &1 I9) SWR |
T3t P aRE ITPT I 3R AT FHHIGR 361 & 781 81 oy i1 ag e a7 e gon, a9 A 39F
e W faora &t giuon & AF B sraxasar 39 7, fhg et Awer & | 1F W e yra w4 31

ITYR TR Y UG ) I T U= o1 Ik qa1su |
U= UG A e &t Wra 3R W7 A = s
1. T 3R Rat

2. 9% 3R I

3. PUS 3R 3

4. S ol

Correct Answer :-

. A AR RE!



29) g &9 W14 §, Ta19 Jud &1 Th A IRR 31 I gt 8, gk | 99 I giat 31 g 981 a1 [ara? g4

HIT AT § - T6 IR I1 o A2 I1 I IRR TR Jod A2 o9 AT G2t UR 37T, 4 Ab | &, &,
forara, fraran 1 @, wa e °f & = &1 vt gai $F AeeiRT, Ple-udi, u-ueht - $ 7 ge e
I A - wﬁmp@mmmﬁgw;ﬁméﬁﬁm\aﬁ g Iy, ﬂgm@ﬁzﬁ?ﬂ'—rwﬁ%m?%
€ 9N IW1R o T2 ® - 1F & R uRT e - 43 sar § Rafeat & @1 81 WK $Y sragean 2
ARYE gl Bt Hl B A ST a1 3, 391 7T | fbg, 918 Fean =R a1 UhTah WY - A aob Uy 3
AT § T 3fR? WG DI A §1-T [AE ! HHG AT 9 T4 99 I IRR BT AaRIHaATS IR
ATRYE giral B aeeite &1 It A8, 59 TSt Y@ Wia-wid & et 0t a9 ot TSt S arg <t oft
ITPT YY" Tid fAear, o9 U@t SRl g #f SEa ok g9t § Th-ge @ & uggel @ arexy,
W E 98 T T §aiT, STH) Wl BT 97141 3 3R 71 AT B 1€ qRet | Hoel AR & T o« 98
ST} AT W UaaR BT 4 TSR o UR IST o7 35T AT, 79 SUP BU-BY § I a1 UHT, A B | a9 I

I+ Ardl g 1l arg, 9 R grg)

T BT HIAI-YW WSl gR g3, 79 I8 Sared gl Rk gafe A8t i s Ye-ys o) affrer Jem ¥ 39
Tgferaa frah, afes 98 erve-fAuR gom, 3w 3t arfermn |/, I7d GRe 1 ;M TA: Tpied gHared gt
o &, gt IR 99-99 R AE-AE BN J! A H O Jled SHS a9 S8 U1 HY BT 3R
PP B a8 UG -TE] 311 3P Algd-aY = TP TA-UR B A1 o+ & e AR {6, s=uqu 3 I9d
g &) WY geserget T ° 1 faum ArHa-3R # te &1 R R R, g0 1 SR 3R Al 1 969 SR
T33if B aRE SUPT Ue MR WA FHHIGR ¥ | 81 81 o @ ag e a9wr wer gen, a3 3ud
e R ooy ) giyon 5 A Y sravawdr 39§, fHg Iue! Ater ¥ @ 1F W fawr urw A $

ST TR B UG -1 YR T U= T Ik qa13¢|
W SRT ATE-UR a1 & 77 A 8132

1.39

2. O

3. Rrafasar

4. 44

Correct Answer :-

30) IE 89 WA g, o9 YU 81 TP A TRR &1 g gl B, gk | 9 o ghar 81 A 981 a1 (a1 g9
FIT TS § - T6 IR I1 oI A2 IT I IRR TR o HIF? 9 AT G2t UR 3741, & Ab | &S, &,
forara, frarm | @, T fiee Ot & @l @) vt gail @ FeeiR, Sie-ud, ux-ueht - $5 7 ge ure
! T - IHP! Y@ BT HIHE TS 15 W gE UST 32 AR SUSISH, 15 Susiish, g Suwisih AgH Siid o 3@
&, 91T IS W 38 § - A & Q| 99T o - 48 Jart o Rafear o w81 81 IRR 3 snaasar A
AARa® JRal B FEl P14 A STA 9T §, &9 0T ¢ | fhg, I8 T=a1 9% q1 ST @Y - AR a@ uy] 3R
UG | /T 3faR? UG $I A9 1T AT ! HG AT a9 S 99 39 IRR B AaRgHare iR
AR gl &Y aeeitg < ad) A8, Sa Iu@! 4@ Wia-wid $R I3 8t aq ff 3Tt o e wR & ot
ITFT YY" Tiid fAwar, 9 3@t FIAFAAT A S FEa iR g9t § Thi-gpe @ A uggel o arex,
WP & 98 o T g3, ITH! WIet BT T4 21 3R I WHT B 918 e | Aot AR ¥ ¢ oiw a8
ST 19 B TqaR BT UG THR e TR ST 1 I8T AT, 9 ITP 99-BY A I a7 UTT, TRM SIS | 99 3
39 A1) & Y 798, 9=t ot TS|

T BT HIAI-YW WSl g g3, 79 I8 S5aid gl Rk gafg A8t i 3@ de-ysn ot affrer Jem ¥ 39
agferaa frarh, afew 98 erFe-fAuR gom, W 3t arfermT ¥, I77d GRY 1 IM: T4: Tpied gHardt gt
fPeon @, gt W T9-99 HRd Ae-aE BN J! THHH H O Jied SHS 99 S8 U1 HY BT 3R
PP B 98 UG 11 3T 3P Wd-ay 7 ISP HA-HR &) A4 o & fore arar fFar, s=ugu A 39
7ed &1 Wt gesergt T ° ¥ faam arFa-3iiR # te &1 R AR 8, g0 1 SR SR afErss &1 9ad SR



URI3HT BT dRE IHSBT U SR HHH AR 36T § 781 81 ForT a1 a8 e a9epr @sT gon, 7=y A 39d
U IR faorg & giyon @Y | A $ sraxasar 3 8, fHg STt At 38! 8 Ig W fawy ura 1 a1

UL T B UgHR 2 TR T U $T I« T3¢

TI: ATA-RR & U 3T R A1 8, TS0 BT HWR AR aRKTss 71 58l 82
1. 9gd 3

2. 999 BHW

3. UheH A d

4. HW

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

To get a better cut, the carpenter had resharp-- his knife.

1. --ered
2. --ed
3. --ened
4. --ing

Correct Answer :-

e --ened

2) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger’'s habits and whereabouts derived
from information of this kind may sometimes be accurate, it is difficult to be certain of their
accuracy.

Which skill of the tiger makes it a great hunter?



1. It is not very patient
2. It can move about noisily
3. It can move about noiselessly

4. It cannot smell very well

Correct Answer :-

¢ |t can move about noiselessly

3) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger’s habits and where —abouts
derived from information of this kind may sometimes be accurate, it is difficult to be certain of
their accuracy.

What qualities must you possess in order to observe a tiger?
1. Patience and perseverance

2. Patience and anger

3. Skill and accuracy in shooting

4. Impatience and eagerness

Correct Answer :-

» Patience and perseverance

4) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger’'s habits and whereabouts derived
from information of this kind may sometimes be accurate, it is difficult to be certain of their
accuracy.

The tiger can be seen in its territory.



1. almost always
2. very often
3. never

4. seldom

Correct Answer :-

e seldom

5) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability to
move with a complete absence of sound even in the thickest cover, coupled with his remarkable
senses of hearing and sight, can defeat the most patient and skilled observer. Because of all this
his habits can be learnt only by piecing together scattered, sometimes meagre, facts collected
patiently, over a period of time. Thus an estimate of the area over which the tiger normally
operates can be made only from news of the animals he has killed, from the rare occasions on
which he is actually seen and from those footprints which are observed and reported. Though
conclusions about the tiger’s habits and where —abouts derived from information of this kind
may sometimes be accurate, it is difficult to be certain of their accuracy.

The word “"meagre” in the passage means the same as:
1. Scary

2. Plenty

3. Very little

4. Most

Correct Answer :-

e Very little

6) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,



Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The word “diverged” in the poem means the same as:
1. Divided

2. Divulged

3. Turned

4. Intimated

Correct Answer :-

 Divided

7) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The poet chose to travel down the road which was
1. looked worn and weary

2. less travelled

3. well known to him

4. most travelled

Correct Answer :-

e J|ess travelled



8) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The poet was sorry because:

1. He could not travel on both the roads
2. He was lost

3. He didn’t wish to travel

4. He wanted to go alone

Correct Answer :-

¢ He could not travel on both the roads

9) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,



Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

“Yellow” in the poem stands for the
1. autumn season

2. poet’s feelings

3. colour of one tree only

4, colour he wore

Correct Answer :-

e autumn season

10) Read the sentence carefully and choose the option that has an error in it:

The non-cooperative attitudes of the members can only deterioration the image of the company
1. of the members

2. the image of the company.

3. can only deterioration

4. The non-cooperative attitudes

Correct Answer :-

e can only deterioration

11) Read the sentence carefully and choose the option that has an error in it:

Although some foods, such as salad vegetables and fruit, are delicious when raw, much foods
need to be cooked first.

1. much foods need to be cooked first.
2. such as salad vegetables and fruit,
3. are delicious when raw,

4. Although some foods,

Correct Answer :-

o much foods need to be cooked first.



12) Fill in the blank with the correct option in the given sentence:

The food was so tasty I ate all of it.
1. when

2. 0r

3. but

4, that

Correct Answer :-

o that

13) Fill in the blank with the correct option in the given sentence:

The artist looked at the  sculpture.
1. gracious

2. gracefully

3. gracing

4. graciously

Correct Answer :-

« gracious

14) Fill in the blanks with the appropriate pronouns.

_ couldget_ foodandeat_ .
1. You, your, it

2. Our, my, them

3. It, us, we

4. 1, you, their

Correct Answer :-
» You, your, it

15) Choose the right tag:



It's growing quite dark, ?
l.isn'tit

2.is it

3. doesn't it

4, does it

Correct Answer :-

e isn'tit

16) Fillin the blank with the most appropriate preposition in the given sentence.

There are a lot of people shopping the mall as the festival draws closer.
1. on

2. with

3. by

4, at

Correct Answer :-

17) Fillin the blank with the correct option in the given sentence:

When a person is placed away from a country, he is a --placed person.
1. dis--
2. re--
3. ex--

4. mis--

Correct Answer :-

o dis--

18) Choose the appropriate antonym for the highlighted word in the given sentence.

With their common racial origin, Norwegians are homogeneous.

1. consistent

2. compatible



3. heterogeneous

4. bilingual

Correct Answer :-
¢ heterogeneous

19) Choose the appropriate prepositions for the given sentence:

Fire fighters were trying to lift the wreckage an express bus that had overturned
the main highway.

1. under, in

2. in, across

3. of, on

4, at, in

Correct Answer :-

e of, on

20) Choose the appropriate synonym for the highlighted word in the given sentence.

Don't try to cheat me by concocting a cock and bull story.
1. misprepare

2. compounding

3. inventing

4. throwing

Correct Answer :-
e inventing

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

Open the door.
1. Let act of opening the door be done by you.
2. Let it open.

3. Let the door open.



4. Let the door be opened.

Correct Answer :-
o Let the door be opened.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

The program a student to study, while he or she and work anywhere.
1. will allowing, will be continuing to live

2. allows, continues to live

3. must allow, is continue to living

4. is allowing, is continuing to live

Correct Answer :-

« allows, continues to live

23) Choose the most appropriate determiner in the given sentence.

an awful day! I have never seen a crowd!
1. Why, such
2. Such, what
3. Such, such

4. What, such

Correct Answer :-
o What, such

24) Choose appropriate articles for the given sentence:

My problem is that | cannot use __ right word at __ right time.
1. no article required, the

2. the, no article required

3. the, the

4. a, no article required

Correct Answer :-



+ the, the

25) Choose an appropriate modals for the given sentence:

I___ submit my assignment; otherwise, I____ not get a grade
1. must, will

2. might, must

3. could, should

4. can, can

Correct Answer :-
e must, will

26) Choose the option that substitutes the given phrase appropriately.

The practice of receiving and entertaining strangers and guests with kindness
1. Hospice

2. Hospitalization

3. Hospitality

4. Welcome

Correct Answer :-

e Hospitality

27) Choose the option that best transforms the given sentence without changing its meaning:
This is the camera. I took the pictures of the party with it.

1. This is the camera with which I took the pictures of the party.

2. This is the camera into which | took the pictures of the party.

3. This is the camera through which I took the pictures of the party.

4. This is the camera in which I took the pictures of the party.

Correct Answer :-

« This is the camera with which I took the pictures of the party.

28) Choose the option that best transforms the sentence into its Indirect form:



The teacher said, “You needn’t bring your books for the next session.”
1. The teacher said that we needn’t bring our books.

2. The teacher says that we needn’t bring your books for the next session.

3. The teacher told us not to bring our books for the coming session.

4. The teacher told that we need not to bring our books for the next session.

Correct Answer :-
e The teacher told us not to bring our books for the coming session.

29) Choose the option that best explains the highlighted expression:

Are you sure I won't be stepping on her toes if I talk directly to my supervisor?
1. underestimating

2. dominating

3. offending or insulting

4. abusing

Correct Answer :-

» offending or insulting

30) Change the given statement to indirect speech.
“How clever of you to have solved the puzzle so quickly!” Said the teacher.

1. The teacher exclaimed admiringly that it was very clever of him to have solved the puzzle so
quickly.

2. The teacher exclaimed with joy that he was clever enough to solve the puzzle so quickly.
3. The teacher told that he was very clever in solving the puzzle so quickly.

4. The teacher expressed that he has been so clever to have solved the puzzle quickly.

Correct Answer :-

« The teacher exclaimed admiringly that it was very clever of him to have solved the puzzle so
quickly.

Topic:- HINDI (HIN)

1) Yegics+ fll o1 i auT e, 3@t Sl 3R sraTsal &1 guur 3|



S uR fear mar sy feaear 8 -
1. A 3R A=

2. i

3. g8aY

4. Uidard

Correct Answer :-
. AN SR o=

2) “wRIfoT Nt & A fohards gt e ey @2

1. TS HHh

2. IR qTH St

3. XdigATY TR

4, BRI T

Correct Answer :-
. digATY It
3) U & BT § BIS O Y5 AGT ST & 3R BIS Y OG- BT 2 ) 98 Rigid & -
1. T o1 g
2. 3[FUTd T4 5 H &1 Rigid
3. qafdae faftrerdr &1 Rigid
4. 3RO Td S &1 Rrgia

Correct Answer :-

. Jafaaes fafiaar &1 Rigia

4) Frataa ¥ o 9 T Pl gE P fasT A i ot 8,39 wea 7
1. T IR

2. 3{Tdeh ISR

3. SIIqeh ISR

4. I o

Correct Answer :-

. 3fTad IR
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1. SRIad Tt
2. Had p-aS

3. Hdd UT6IgxAD
4. Had AR

Correct Answer :-

o SWRIad Tt
6) Rreror fafra &1 v Hd 9o g1 Bt fop1 F1a) BT AW e 71 91w 2
1. SRId I+
2. Had HI&TS

3. Had Ffear
4, Had vrd

Correct Answer :-

« IWRIgd gt

7) Tauyw 9 fagr 3 ufsa o1a o1 &) arfew &1 <ol g w1 U
1. ST IAGEY Agacl

2. AEHHRI™U AT

3. 1 e

4. g P AT

Correct Answer :-

. S RA

8) forw wifaardl ®fa &1 Iu=™ U U 82
1. TUYR YA

2. HERATY YT

3. Rrqwre Rig

4. e

Correct Answer :-



9) wE ¥ oy UopR #) aryfgai a1 & -
1. SWRIad gt
2. Hgd I

3. had aTed TG

4. ad fovH g

Correct Answer :-

. JWidd gt

10) faenea ¥ 49 & Ut @t sawT & fore foran T v fre yaR &1 u= | SImeen?
1. BTG U

2. AR U

3. R uA

4, AT U

Correct Answer :-

. AT T

11) 390 A - fAyar I ee P 2
1. 3T e H @ 3R e & T I Bl B
2. & eH A TH G UA BT 5 |

3. X&) e | T BT ATa=gHdT el Bl

4. X&) e o i SHa<ge el ST 7 |

Correct Answer :-

. YT e | af oIk g B THE WA g B |
12) 33} UGS & U I8! © -

1. AR

2. Bl H TSR IUe BT

3. YTST T faars g

4. ol UTush Y afRyd 71§ WU g



Correct Answer :-

. TS T T B

13) 3@y forg it (FUHTHT) F Tl B2
1. afgef e

2. TSTRYTT

3. UgTSt fedt

4, gt &t

Correct Answer :-
. gt iR
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1. 3T e, T Taiferd
2. IR ot § Trafird el
3. YIRS T, & Twaifid
4. AT ¥ Fw&ifed

Correct Answer :-
. IS G O It
15) fra Joft & Py i 79 SR Aifge R A g g &
1. YYD ey
2. fa=civuneTss (Ady
3. Ui ey
4, foaRTdE® A9y

Correct Answer :-
S CEINCCAECL!
16) <3ATRUNY HElGw eIy fPa USR & 0 § uged a1 22
1. PRI 93
2. UTRATRS T
3. B DI U



4, faqmo=

Correct Answer :-

17) {59 B< & T: fauA TR S YYH IR IR0 AT YT 3ifaH g IR1 STt & gl
1.48h <
2. BT G

3. OERl Ba
4. Hidd T4

Correct Answer :-

e SWYVq

18) YRAF & A # WU 3R Al ¥t g8 o1 3 sfoe wirs erfidie & 9x1 sk
ST & URIE W MuTerd & TF Y1 9 <5 X SR ST et SHR W1 & Srgardt A1 afg
it A 3l Suf-azrare &1 RATfUd #e- § Jgrrdar ugardt At af HRdw A 39 Suf-axmare
& favg e THfie duR #5113 vt B Rt o spfie & ol o1 urafia s
IR | Ofe TP 3R I ATTHTIT TFBPR AT dl gt 3R 3 BhdY A-Tdl &A1Y THIPpd i Bl
T fdRIY 39 &5 A1

Iudad uftsde & Ugde i AT 7T uy &1 I« fafae:
Terr B T Y ug srafdRiy | Far Sm=w 32

1. faRieh 7o

2. U

3. SIS

4. JUFaRTETG

Correct Answer :-

. R o

19) YRAF & Afcicd # Bapsu- 3R Al 41 g8 1 3 sfoer ulirs erfide & d9v=1 sik
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1. ST YEHR

2. ITH SdfaRIY &

3. 3% Hfckicd H hahgU Ul

4. IUFARIETE B RN H | T

Correct Answer :-

. JufaRare &) RIfd 84 § JgRidT

20) YRdm & Afkicd B Bapsu 3N 7l 43 g3 A1 3 sfoera uRrs snfikie & 9= ok
ST & URT WA MUTereia & T A1 9 <5l 92 SR SATIAT et §AR |1 & Srgardt A1 afe
3t A 3l JufAzrarg & W &3 # Jgraar gardt A af URdm = 39 Sufazrarg
¥ favg daTfve e darR @t 3 ot Bid-t forft o spfide & T &1 urafia sd
2| Ol TP 3R ITH AU TBR AT a1 gt 3R 3 BHHY o-1dl &A1Y ThIpd i+ Bl
ST SrfaRIY 394 o3 A

Iudad ufiwse & Ugdr i AT 7T uy &1 I fafaw:

TR & SRR HRA - forads e darive s aur @12
1. $Hdl &

2. BahSU 3R A &

3. ST GEDHR &

4. JUFARIETG &

Correct Answer :-

« JUMdREE &

21) YRdw & Afkicd B Bapsu 3N 7l 43 g3 A1 3 sfoera uRis snfikie & 9= ok
ST & TR WA MUTereia & T A1 9 <l 9 SR SATIAT It TAR |1 & Srgardt A1 afe
3ftig A il IufaRraTg &1 T w3 # Jeradr ugardt f af 4Rdw A 39 Jufdzmarg
¥ favg darfve e darR ot 3 ot Bid1-3t foreft o spfidie & T &1 urafia sd
5| i TP 3R ITH AU DR AT dl gt 3R 3 BHdY o-1dl &A1Y Thipd i+ Bl
ST SrfaRIY 394 o3 A

Iudad ufiwse & Ugdr i AT 7T uy &1 I fafae:
Ud T 3 Sfd 2hide difere

1. HRA, &1 oiia- Ty

2. YRAg BT Hidd

3. ARSI 3R YRAm

4. TR 3R URAZ

Correct Answer :-



22) YRAE & Afeicd # Papsu- 3R At ¥t g8 41 3 sfoer wits srfiie & vt sk
ST & URI W MUTerec & IF Y1 9 <5 9 SR ST et SAR W1 & Srgardt A1 afg
it A 3l Suf-azrare &1 RATfUd #e- § Jgrrdar ugardl At af HRdw A 39 Suf-axmare
& favg e THfie duR &1 3 vt Bid- Rt o spfie & Fol &1 urafia s
2| afe TP 3R S0 AT TFBPR AT a1 gt 3R 3 BhdY STl &A1Y THIPpd i Bl
T Iy 39 &5 A1
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YRAE & oafcied 31 H14-3 3 fardreent agi sars w8 32
1. TYTeTeG & G

2. d b 3R A% T R gL Y

3. 3ftfdE o 9l A

4. IUATETE & favg IaRRe SHF dUR o1

Correct Answer :-

. ITahS AR AN IR T

23) I8 YA fPHS GRT BT T 7 AT 71 & forT 9814 &1 & Faei &1 yae gon § 9 safaa
FI @i RT S SusT g 1Y

1. faord=s; Hids

2. BN} T fgaclt
3. HAS Yo

4. 31 A%

Correct Answer :-

. BRI UG fgadh

24) T 3= ATATRS 07 & A & A Hi-31 faiward gt anfge?
1. AP, FH SR Hfdd

2. IS, geddr 3R fRrydr

3. U, AATHBT 3R TRl

4. YTYT, THT 3R SIRAT

Correct Answer :-

o YIS, Sy 3R fRryar




25) TRaTH! gailer I SrafRauEe # 99 1vs 8, 390 g A A Sa-ar T8 82
1. fhfcp=mTs
2. APIHIUS

3. geXPIUS
4. JAUIGYDTUS

Correct Answer :-
. JAUEYHITS
26) 12 & 1< iR § -1 PR 22
g wea g Rg®E |
P fag wew & At =
3T g Tp e 7 HR |
g st awar g W 11
1. AT 3APR
PR CE I CEIRNCAN
3. 948 DR
4. SUHT 3[ADPR

Correct Answer :-
S CICEIRC AN

27) W@ aifiraafdy o1 3o T8 § -

1. ey

2. G-

3. AT quiF

4. gepdl AT

Correct Answer :-

. TEOEH

28) NS W= § ‘Ui fera- <t siferard g2
1. 3THY TR & [T

2. g fer & ferg



3, ¥gH & fow
4. 918} Tolde & forg

Correct Answer :-

. T & faw
29) YTYT AP HT gERT AR -

1 g
2. Yel
3. ST
4. fergmm

Correct Answer :-

30) YT Rr&iv7 & Yedicd St SATaRaHdl ISl 3:
1. IRerd Gt

2. Had B DI B DI S H

3. HId B! B &HAT AR HHNNI DI o= &

4. ad TRI&01 YichdT ! Thd d YHTA! S |

Correct Answer :-

o SWRIad gt

31) HTYT fRr&101 &% Aaard & Rigid g1 -
1. YT e § 50 999 Tar g |

2. Y91 AR H fRRar g 21

3. YY1 Te & Hf3TS gidl B
4. HTST WREA & 31fRIes T0g eTaT B |

Correct Answer :-

o MY TG A HH IHY AT 8 |
32) Y3 IEERUR -

1. 3T Y P T



2. TRY-Y AT
3. TXT YT
4. g qIEht

Correct Answer :-

o Yo Ul

33) HUTHR WG BT o1 370 A 59 7Ta T gaim 12
1. FIRY

2. Rqileldlg

3. TR

4. AfcHTR

Correct Answer :-

34) HUTGH $I A S a1 TSIHVT U FT A I3 T g1 82
1. Yiferdl &1 ufcrare B

2. SR AT

3. SdgM §drT

4. famm= <

Correct Answer :-

. Yifadi 1 Yfcrare &1

35) T UTHT BT YGHT $A HId 82
1. IWRIaa gt

2. BHad ADR

3. had feRgh

4. HId SIADI

Correct Answer :-

o SWRIad It



frafafed 9 3 5T o< & dd® IR T HHRT: TP WIU,TSH HIUL,TH 01,G1 7107, 3R &1 IS
I § YT I8 HE Ui T 5HdT 8-

1. HETh T B4
2. ATt B
3. RRrafvult &<
4, T B¢

Correct Answer :-

. HeThI= B4

37) fog dfdaal & S a1 1 T 32
dg SfTdT,

3 ¢F B S HIAT USArn

Y TR 3T |

e dis g+ e § v,

T Y1 APIedl e,

I R eM &Y, Y@ fer &1,
He W YRIvf el &Y Sarar ||
1. g o

2. 31T T[0T

3. J4TE 01

4. ATYY 0T

Correct Answer :-

38) fy ufdaal & S QT IUT 82

Ho BB TUR 4 I | Fad a1 99 I ged Il
AE Hed gt E-8 | v faea farra &€ #181

1. SR TOT

2. 3T T[0T

3. UG 10T
4. H1yg 01

Correct Answer :-



39) 9 & | PH-I1 ORI U7 T ISR 81 82
1. QTG

2. ORTA

3. geda

4. IO

Correct Answer :-

40) 5 ¥ A PH-T1 FEHBR 75 BT TIa I T8 ST Y12
1. e ot

2. XTol5 Ted

3. 3RBId

4. STORIHR TATG

Correct Answer :-

o STORIHR UG

41) 5 T A B T YT T dd T8l 82
1. HTST SRATHIRTS Bt 81

2. YT 3T A gicil 5 |

3. YT USh TR |

4, UTYT YelipTada gt g |

Correct Answer :-

o UTYT SRTATRIS I 8 |

42) 9 & @ fra geray &1 3 Ty ©u J g R A Far 32
1. H3HT G|

2. BRI SaTg T

3. BIg HleT|

4. PIS HIR 7 BT



Correct Answer :-

. HRISAE S

43) 9 A A P19 AETUEY BT WS A8 82
1. HETHTH

2. GUS JdY

3. QRI0T
4. 3R

Correct Answer :-
. TUS UEY
44) 9 & @ Aifew sifiraafat e 8-
1. IWRIad guft
2. Had arqia™
3. had &
4, b YOI

Correct Answer :-

. IR g

45) fora & @ B A1 are, Ay areRs BT IR A 82
1. 98 US 3 {11 & S gH QI |

2.7 U T8 QX S Pe Sl W AT

3. T SFar § foh a8 Hg! aa T[T g |

4, ST 9% AT ad & AT S|

Correct Answer :-
. 11U T R 9N Te SHar W ol
46) & & B9 A UfFaPTei= HiY uga T[T A fareg a1 A fAjor s w2
1. AMHCd
2. TIgedTd
3.3G™



4. 7% AMH <9

Correct Answer :-

47) g A A - FeyeR afed 9 Aipfoe FeueR F 0§ Bifa urw 82
1. AT A= A

2. 3T B’ TTE fgddt

3. HgE 9GS

4, GRRIPR RATS

Correct Answer :-

- 3T BOIRT UG fead

48) FFofafeq iR d P TTo< 82

& T ST T, T gwet Giforg | 2 A ol @Y, R ga P
R g0 IR0 H, 57 Terar) a1 | TeER} ywiver®, Rad uft = 11
1. $SdA <

2. femure B

3. it B

4. B4

Correct Answer :-

. TifddI B4

49) gW! Hfd TTH D! TISM & AT G0 Bl UL
1. deH — Afcie Ggwe S

2. JFET — ]G et

3. AYHATC! — HIH

4, et — 9

Correct Answer :-

. dar — Hidid gHa S

50) fAfafEad faweul A & sarewor A 93 Rreor =g aas¢ 2



1. Iuad gt
2. Had I

3. Had HIRA
4. Had I YA

Correct Answer :-
. Iugad quft
51) Frafaf@e ¥ @ SI9 1 TR S BT 8 82
1. Searoft
2. S
3. IRE

4. TFTEY &1 gl

Correct Answer :-

52) for TEeret & @ 19 i yRa=g sRTE=s P AE R
1. U0 @

2. O Ui

3. U WIR

4. U ATy

Correct Answer :-

. UH T

53) «‘gﬁmmmﬁ%,mmwmﬁmwwal”_ugm
HYT?

1. IR
2. A ETS Y
3. U<
4. 9%

Correct Answer :-



54) S SYdl gRT wAfdd A9 faemaa & Igrevor sase-
1. TeTfritet T

2. 5 faegera

3. 9 e

4. e faener

Correct Answer :-

. TR faemera

55) FIAHWI HE oit & gRT fafead a@ie fra At A a2
1. TATHSD FeY

2. JUHTHS ey

BCEINCEARCE

4, dfard ey

Correct Answer :-
. qUHHS My
56) HETSd! aHi & Prog # g # A S1- Udte Taifie ugad gu 82
1. 4Ue 3R e
2. T} SR o1
3. 7ifq iR faram

4. Tpfar SR g

Correct Answer :-

. U R Fed

57) Wfeare o1 & G & g & @ S9-a1 Hy= ag T8 @2

1. TTTraTe} 3 = 2oy 7 uferie faman 1

2. JTfaTe} Hida ¥ GrHArRT A & Fosf Bl 30t dfaarsit - fean B
3. yrTfaraTel ST 3 Upfa & Hd T4 BT R ot wfadreii & faar g |
4, TRTfaTS! Shfadl 3 ot Tt &1 fepor fear g

Correct Answer :-



. TaTd] a3 Upid & HIHd U BT R0 U=t Higdrei J fear 3|
58) f&dl &1 URIs HeFIGR SHfAT BT S ATH T UT?

1. ST SR

2. VSl=gaTell "Iy

3. T YRt

4. JuTcal o

Correct Answer :-

. ST gy
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| TS BRI o APl § 9 o d S-TdT & TR IR 98 WIS YT 99 T |
1. TF HTST

2. T[T TN

3. WU TS

4, TSTUTST

Correct Answer :-

60) el famed Fang -
T S SR w0 8 ufafla, wa ofR g e yd W B
1. YT acd

2. HeT dcd

3. i dd

4. 9fgda

Correct Answer :-

o Hlddd



